This CONTRACT made and executed this DEC day of December 2018, by and between:

BULACAN STATE UNIVERSITY, a state educational institution duly organized and existing under and by virtue of the laws of the Philippines, with principal office and postal address at Guinhawa, City of Malolos, Bulacan 3000 of the Philippines represented by its President Dr. CECILIA N. GASCON (hereinafter called "the UNIVERSITY").

and -

**ADIMRE CONSTRUCTION** duly organized and existing under the laws of the Philippines, with postal address at 447 Ignatius St. Villa Priscilla Subd., Cut-Cot Pulilan, Bulacan represented herein by its Owner/ Manager **Mr. NOEL B. MARIANO** and by virtue of the powers conferred upon him (hereinafter called "the CONTRACTOR).

WHEREAS, the UNIVERSITY intends to undertake PROPOSED MODERN AUDIO VISUAL ROOM AT BUSTOS CAMPUS INFRA 2018-22 (hereinafter called "the WORKS");

WHEREAS, the CONTRACTOR warrants and has represented to the UNIVERSITY that it has the capability, competence, and sufficient resources to construct ad complete the aforesaid work, thus offered the bid for One Million Nine Hundred Forty Thousand One Hundred Thirty Five Pesos and 26/100 (P 1,940,135.26), hereinafter called ("the Contract Price");

**WHEREAS**, in view of the foregoing warranties, the UNIVERSITY has accepted the CONTRACTOR'S offer in complete reliance on the foregoing representations made by the CONTRACTOR, subject to and in accordance with the terms and conditions hereinafter set forth.

The calculated unit bid prices shown in the attached Bill of Quantities are tabulated hereunder:

Item No.	Description	Qty.	Unit	Unit Price	Total Price
1	GENERAL REQUIREMENTS				
1.0	Mobilization/ Demobilization	1.00	lot	10,000.00	10,000.00
2.0	Health and Safety	1.00	lot	10,300.00	10,300.00
	Sub-Total				20,300.00
II	PRELIMINARY WORKS				
1.0	Room Clearing / Cleaning	1.00	lot	5,550.00	5,550.00
2.0	Removal of Existing Masonry, Ceiling, dry Walls, Stage and floor mounted ACU	1.00	lot	11,600.00	11,600.00
3.0	Removal of Existing Doors and Windows	1.00	lot	2,775.00	2,775.00
4.0	Hauling and Disposal	1.00	lot	9,250.00	9,250.00
	Sub-Total				29,175.00
III	CARPENTRY WORKS				
1.0	Ceiling Finishes				
	4'x8'3/8" Gypsum Board	51.00	Shts	380.00	19,380.00
	Metal Furring Frame & C-channel Hanger with Accessories	109.36	Sq.m	135.00	14,763.60

Mr. NOEL B. MARIAN

**CECILIA N. GASCON** 

**BuISU Witness)** 

(Contractor's Witness)

		Consumables (Mesh Tape, Rivets, Joint Compound, Sand Paper, Nails, Drill Bit Grinding Disk)	1.00	lot	500.00	500.00
-	2	STAGE				
Ö		3/4" x 4' x 8' Marine Plywood	7.00	Shts	1,400.00	9,800.00
iAS		2" x 5" Good Lumber S4S	115.00	Bd.Ft.	150.00	17,250.00
÷		2" x 6" Good Lumber S4S	220.00	Bd. Ft.	150.00	33,000.00
DR. CECILIA N. GASCON		Consumables (Sand paper, nails and putty blade)	1.00	lot	2,000.00	2,000.00
8		Sub-Total				96,693.60
DR	IV	WALL FINISHES				
	1.0	Laminated Decorative Walls				
		Veneer Laminated on 3/4 thk. Marine Plywood	75.72	Sq.m	1,400.00	106,008.00
		Acoustic Fabric Wall including Framing	35.24	Sq.m	1,000.00	35,240.00
9		Metal Furring Frame with Accessories	129.00	Sq.m	120.00	15,480.00
Mr. NOEL B. MARIANO	2.0	Consumables (Adhesive, chalk, nails, screws, painters tape, moldings)	1.00	lot	1,000.00	1,000.00
≥	3.0	Masonry including plastering works				
EL E		6" thk CHB	105.00	pcs	15.00	1,575.00
8		Cement	20.00	bags	235.00	4,700.00
<u>×</u>		Sand	2.50	Cu.m	550.00	1,375.00
		Deformed 10mmØ Reinforcement Bar	32.00	kgs	50.00	1,600.00
		Ga #16 Tie Wire	1.00	kg	90.00	90.00
		Sub-Total				167,068.00
	V.	FF01 600mmx600mm Porcelain tiles (Glazed)	26.00	pcs	2,000.00	52,000.00
		FF02 500mmx500mm Carpet Tile	75.00	pcs	300.00	22,500.00
ess		Non-skid Rubber nosing strip	18.00	l.m	750.00	13,500.00
(BuISÚ Witness)		Adhesive (Carpet Tile)	6.00	gals	500.00	3,000.00
5		Tile Adhesive	13.00	bags	250.00	3,250.00
Sins		Cement	50.00	bags	235.00	11,750.00
9		Sand	5.12	Cu.m	550.00	2,816.00
		Consumables (muriatic acids, brush, rollers, spatula and white cement)	1.00	lot	1,000.00	1,000.00
		Sub-Total				109,816.00
	VI	PAINTING WORKS				
(\$		Flat latex	22.00	gals	550.00	12,100.00
(Contractor's Witness)		Elastomeric Paints	2.00	gals	800.00	1,600.00
₹		Masonry Putty / Skim Coat	12.00	bags	450.00	5,400.00
r's		Acrylic Ting-Ting Color	2.00	li	110.00	220.00
- gc		Polytuff	1.00	li	550.00	550.00
ntra		Duco	1.00	gal	800.00	800.00
၀)		Consumables (Paint Thinner, Brush / Roller, Sand Paper, Scraper, Spatula, Paint Tray, Tape, Cloth )	1.00	lot	1,500.00	1,500.00
		Sub-Total				22,170.00
S	VII	FENESTRATION				
AS G. MIRABUENOS	1.0	Doors  D1- 0.9m x 2.10m 1/4 thk. Marine plywood on 2"x 3" KD Wood frames Flush type w/ vision panel 1/4" thk clear glass complete with lockset and accessories	2.00	set	10,395.00	20,790.00
AS G		Aluminium stair nosing with luminous strip (for door opening)	2.00	set	1,100.00	2,200.00

		Hydraulic Door closer with complete accessories	2.00	set	2,500.00	5,000.00
	2.0	Windows				
NC		W1-2.80m x 0.70m Aluminum Sliding Glass Window analok frame w/ 1/4" thk brown shade glass	1.00	set	10,780.00	10,780.00
DR. CECILIA N. GASCON		W2- 1.40m x 0.70m Aluminum Sliding Glass Window analok frame w/ 1/4" thk brown shade glass	2.00	set	5,390.00	10,780.00
A	3.0	Window Grills				
CE		1"x1/4" Flat Bar	44.00	kgs	60.00	2,640.00
DR. CE		Carbon Steel shield anchor bolt, fixing hole 16mmØ, 0.6m	14.00	l.m	550.00	7,700.00
		Sub-Total				59,890.00
	VIII	ELECTRICAL WORKS				
	1.0	Lighting Load				
ANO		Recessed LED Down light with Frosted Glass Cover, Thin Design, 230V, ~12W (Rated),Ø~200 x 21 mm, Daylight	30.00	set	1,000.00	30,000.00
Mr. NOEL B. MARIANO		Recessed LED Pin light casing with Frosted Glass Cover, 3-step dimmable A-bulb E27, 230V, 12W (Rated), Ø 170, Non-dimmer switch type, Daylight	10.00	set	1,000.00	10,000.00
Ir. NOE	_	LED Cove light / Rope light 230V, per meter, Ultra Bright, Daylight, with connector (and/or supply)	97.00	l.m	250.00	24,250.00
2	2.0	Conduits				
		20mmØ UPVC hard plastic (3m)	65.00	pcs	70.00	4,550.00
		25mmØ UPVC hard plastic (3m)	36.00	pcs	100.00	3,600.00
		1/2" Ø electrical flexible hose	100.00	M	10.00	1,000.00
		1"hard plastic moulding, white (3m)	4.00	pcs	100.00	400.00
ess)	3.0	Misc. (pvc elbow and connectors, chipping, plastering, pvc cement, clamps, etc)	1.00	lot	1,000.00	1,000.00
tue	3.0	Wires				
Ž		8.0 mm2 THHN Wire Line (aircon)	2.00	box	22,500.00	45,000.00
ISI		3.5 mm2 THHN Wire Ground (white)	120.00	l.m	120.00	14,400.00
(BulSe Witne		3.5 mm2 THHN Wire Line (150m/box)	400.00	l.m	120.00	48,000.00
		2.0 mm2 THHN Wire ground (white) (150m /box)	2.00	box	2,800.00	5,600.00
		Misc. (electrical tape, tie wires etc.)	1.00	lot	1,000.00	1,000.00
	4.0	ECB				
		Junction Box, uPVC	70.00	pcs	50.00	3,500.00
(5)		Utility Box 2" x 4", uPVC	24.00	pcs	30.00	720.00
(Contractor's Witness)		HDMI Wall Mount Panel Outlet, Female to Female, standard 2x4 wall outlet	2.00	set	500.00	1.000.00
S W		HDMI Male to Male 5m cable	2.00	set	1,200.00	2,400.00
tor,		Sub-Total				208,970.00
rac		Total Materials:				664,607.60
ont		Labor Cost:				204,850.00
9		Additional Labor Cost (Item 2-1 to 4)				29,175.00
		Total Estimated Direct Cost				898,632.60
		Add: Indirect Cost				
S		OCM (10% of EDC)				89,863.26
N.		Safety and PPE				10,300.00
AIRABUENOS		Profit 8% of EDC				71,890.61
RA		Total Direct + Indirect Cost				1,070,686.47
5		111				.,5.10,000.77

. MIRABUENOS

Add:

MIRABUENOS

EQUIPMENT AND FURNITURE TO BE DELIV	VERED INCLUE	DING INSTALLA	TION	
Split Type Air conditioner Premium Inverter 5 tonner Ceiling mounted	2.00	units	83,250.00	166,500.00
Dual- channel UHF Handheld wireless system with 2 heavy duty round base microphone	1.00	units	7,800.00	7,800.00
60" LED TV (Smart Digital TV) including bracket	1.00	units	84,000.00	84,000.00
Rechargeable LED Emergency Light w/ 3 hours stand by	2.00	units	5,400.00	10,800.00
Fire Extinguisher with Cabinet	2.00	sets	3,600.00	7,200.00
Standalone Photoelectric Smoke detector, 9V, with test button	4.0	sets	1,700.00	6,800.00
Fixed Sound System (PA System w/ 8 Channel Mixer & Accessories, Speaker Bracket, Microphone & Audio Cable )	1.00	set	37,200.00	37,200.00
12mm thk x 1.2m x 4.8m Lacquered Tempered Glass Writing Board with accessories	1.00	set	39,840.00	39,840.00
Polyshell chair	52.00	sets	3,526.92	183,400.00
Customized Laminated table with veneer finish type A	6.00	sets	19,300.00	115,800.00
Customized Laminated table with veneer finish type B	4.00	sets	19,700.00	78,800.00
Customized Laminated table with veneer finish type C	6.00	sets	10,800.00	64,800.00
Sub-Total				802,940.00
Total (Direct Cost + Indirect Cost + Additional Cost)				1,883,626.47
3% VAT				56,508.79
TOTAL PROJECT COST:				1,940,135.26

**NOW, THEREFORE**, the **UNIVERSITY** and the **CONTRACTOR**, for and in consideration of the terms and conditions set forth in this **Agreement** and in the documents, appended thereto, do hereby agree as follows:

## **ARTICLE 1. CONTRACT DOCUMENTS**

- 1.1 The following Contract Documents shall form part of this Agreement
  - The Bid which is in the form of Bid Accomplished and submitted by the CONTRACTOR, including:
    - 1) Bid Security
    - 2) Bid Prices in the Bill of Quantities
    - Detailed Estimates
    - Valid Philippine Contractor's Accreditation Board (PCAB) License and Registration for the type and cost of the contract for this Work;
    - 5) Organizational Chart;
    - 6) List of CONTRACTOR's Personnel;
    - 7) List of CONTRACTOR's Equipment;
    - 8) Construction Schedule and S-Curve;
    - 9) Manpower Schedule;
    - 10) Construction Methods;
    - 11) PERT/CPM;
    - 12) Site Inspection Certificate;
    - 13) Omnibus Sworn Statement
  - Invitation to Apply for Eligibility and to Bid;
  - Bid Data Sheet;
  - d. General and Special Conditions of the Contract;
  - e. Supplemental Bid Bulletin;

- g. Performance Security and Warranty;
- h. Approved Resolution to Award;
- Notice of Award of Contract and winning bidder's "Conforme" thereto; and
- Other contract documents that may be required by existing laws and/or Entity.
- 1.2 The Provision of this Agreement and the above-mentioned Documents should be read and construed in harmony with one another, in view of giving each and every provision hereof and thereof full force, effect and applicability.
- 1.3 In case of irreconcilable conflict between the provision of this Agreement and those of the plans, specifications and general conditions and Bid Documents, the intention of the UNIVERSITY shall prevail.
- 1.4 The Construction Plans and Specifications, the detailed price proposal and other relevant documents mentioned above are considered part of this Agreement as if hereto attached.
- 1.5 Any items mentioned in the Plans or the Technical Specifications, not included in the other shall be deemed included in both and covered by this Agreement. In case of doubt or conflict between any or some of the items or provisions in the Plans or Detailed Specifications, a fair interpretation shall be adopted, upholding the intention of the parties.
- 1.6 The CONTRACTOR shall make no change or alteration in the Plans and Technical Specifications, without prior written approval of the UNIVERSITY through its Architect/Engineers. A mere act of tolerance shall not constitute approval.

#### **ARTICLE 2. ENGAGEMENT**

- 2.1 The UNIVERSITY engages the services of the CONTRACTOR as an independent contractor to perform the services described in Article 3 of this Agreement.
- 2.2 This Agreement does not, and the Parties do not intend to, create any agency, partnership, or relationship of employer and employee between them or between the UNIVERSITY and CONTRACTOR's employees, agents or representatives.
- 2.3 The CONTRACTOR warrants that it shall not take action of any kind that is contrary to this express intention. Otherwise, if any such action is taken by any other person, the CONTRACTOR shall protect the integrity of this intention as expressed in this Agreement. As intended by the parties, this Agreement sets forth the conditions under which the Parties shall perform their obligations.
- 2.4 This Agreement does not give the CONTRACTOR or any of its employees, agents or representatives any authority whatsoever to hire any persons or incur any financial obligation for and in behalf of the UNIVERSITY or bind the UNIVERSITY to any contract or arrangement with any third party.

## ARTICLE 3. SCOPE OF WORK

During the term of this Agreement, the CONTRACTOR shall:

- 3.1 Render the Work enumerated and described in the Construction Specifications and in accordance with the general terms and conditions and made an integral part of this Agreement with utmost efficiency and reliability.
- 3.2 Provide plans, designs/drawings as approved by the UNIVERSITY which are necessary in the execution of work mutually agreed upon by the UNIVERSITY and the

- 3.3 Undertake the construction and completion of the work in full compliance with the contract documents.
- 3.4 Any and all requests by either party to modify the scope of the Work must be made in writing and must be approved or agreed to in writing by the other party.
- 3.5 The CONTRACTOR shall comply and provide on its own account, all Government provisions and requirements on Fire safety equipment like Fire sprinklers and fire alarm, emergency light and fire exit on all facilities of the building.
- 3.6 The CONTRACTOR shall be responsible on Sewage Treatment Plant (STP) while doing the construction works.
- 3.7. The CONTRACTOR shall be free to use any means and methods not contrary to law, regulations and the provisions and spirit of this Agreement, which it believes will best enable it to perform the committed Work.
- 3.8 The CONTRACTOR shall assign such number of its qualified, skilled, well trained and well-screened personnel ("Personnel") as may be necessary for the efficient and successful performance and completion of the Work in accordance with the requirements of and to the satisfaction of the UNIVERSITY.
- 3.9 The CONTRACTOR shall be liable for hauling of scrap taken from the construction of the project.
- 3.10 The CONTRACTOR shall provide, on its own account, all the tools, equipment, implements, materials, supplies, uniforms, identification cards and paraphernalia necessary for its Personnel to perform the Services.
- 3.11 The CONTRACTOR shall likewise be responsible for all the acts, faults, negligence, or omissions of its Personnel and for the upkeep, maintenance and condition of the tools, equipment, implements, materials, supplies and paraphernalia used in the performance of the Work.

# ARTICLE 4. PROJECT COST AND TERMS OF PAYMENT

- 4.1 The UNIVERSITY shall pay the CONTRACTOR for the entire performance and completion of Works herein, the Contract Price of **One Million Nine Hundred Forty Thousand One Hundred Thirty Five Pesos and 26/100 (₱ 1,940,135.26),** inclusive of Value Added Tax (VAT) through Government disbursement procedure, subject to the payment, retention money, and warranty provisions in the General Conditions of Contract, the Special Conditions of Contract, the IRR of R.A. 9184, and applicable Government Procurement Policy Board Resolutions.
- 4.2 The CONTRACTOR hereto guarantees that for the implementation of the Work, the UNIVERSITY shall not incur any expenses beyond the said amount except for any addition of extra work not provided in this Agreement that may be required and authorized in writing by the UNIVERSITY.

# ARTICLE 5. COMPLETION AND ITS EXTENSION

- 5.1 The time of completion of all the works in the Work shall only be extended for such period as maybe necessary should the work be delayed due the fault of the UNIVERSITY, or by force majeure, war, rebellion, strikes, epidemics, fires, riots, or acts of the civil or military authorities.
- 5.2 An extension of the time shall be effective only upon request therefore made in writing by the CONTRACTOR and only upon approval by the UNIVERSITY. In case of additions or alterations in the work as contemplated in Article 3, written request shall be presented by the CONTRACTOR for approval within one week's time following an

- 5.3 The UNIVERSITY's approval for extension of time or period brought by delay of the CONTRACTOR of the completion of work other than those stated above is subject to payment of interest and penalty of 1% a day to the UNIVERSITY until the completion of work of the CONTRACTOR.
- The CONTRACTOR agrees to complete, deliver, and turn over the project within **Sixty (60) calendar days** counted from the agreed date of construction, which should not be later than seven (7) calendar days from receipt of the Notice to Proceed. Otherwise, the CONTRACTOR shall indemnify the UNIVERSITY, without demand ONE PERCENT (1%) of TEN PERCENT (10%) of the total contract price for each day of delay, as liquidated damages.
- 5.5 The UNIVERSITY shall deduct the liquidated damages from payments or any money due, or which may be due to the CONTRACTOR under this Agreement and/or collect such unliquidated damages from the retention money or other securities posted by the CONTRACTOR, whichever is convenient and at the option of the UNIVERSITY.
- 5.6 Once the cumulative amount of liquidated damages reaches ten percent (10%) of the Contract Price, the UNIVERSITY shall rescind this contract, without further Court action and without prejudice to other courses of action and remedies available to the UNIVERSITY.

## ARTICLE 6. UNIVERSITY'S REPRESENTATIVE

6.1 The UNIVERSITY shall be represented at the Work site by its duly authorized and other designated representatives, with whom the CONTRACTOR, in undertaking the construction of the Work, shall solely coordinate.

# ARTICLE 7. SUBMISSION OF PROGRESS REPORT, SURETY BOND AND INSURANCE POLICIES

- 7.1 The CONTRACTOR shall be required to submit to the UNIVERSITY a Surety Bond and the insurance policies required under this Contract within one (1) week after the signing of this Contract.
- 7.2 The CONTRACTOR shall submit to the UNIVERSITY a monthly progress report, which shall not be considered as final acceptance of the work under this Contract.

#### ARTICLE 8. ESCALATION OF COST

Under no circumstances will there be any escalation in price for the increased cost of labor and materials in this Work

## ARTICLE 9. ACCEPTANCE AND FINAL PAYMENT

- 9.1 Final payment of the TEN PERCENT (10%) RETENTION shall be made within (30) days after full and final completion of the work herein as duly certified by the UNIVERSITY'S ARCHITECT/ENGINEER'S and subject to final acceptance of the same by the UNIVERSITY and the submission of a Guarantee Bond.
- 9.2 Upon receipt of written notice from the CONTRACTOR that the work is ready for the final inspection and acceptance, the UNIVERSITY's Architect/Engineer shall promptly make such inspection. If found acceptable under the Contract and that the Contract is fully performed, a Final Certificate of Acceptance shall be issued stating the work provided for in this Contract has been completed and is accepted by the UNIVERSITY and its ARCHITECT/ENGINEER'S under the terms and conditions thereof, and that the entire balance found to be due to the CONTRACTOR and noted in said certificate is due and payable as above provided.

# **ARTICLE 10. DEFECTIVE WORK AND MATERIALS**

10.1 Defective work shall be made good and unsuitable materials shall be rejected not withstanding that such work and materials have been overlooked by the UNIVERSITY Architect/Engineer and accepted or estimated for payment.

10.2 If the work or any part thereof shall be found defective at any time before the final acceptance of the whole work, the CONTRACTOR shall forthwith make good such defect in the manner satisfactory to the UNIVERSITY. If any material brought on the ground for use in the work and selected for and not in conformity with the Specifications, the CONTRACTOR shall forthwith remove such materials from the vicinity of the work and any materials furnished which are damaged or rendered defective by the handling or improper installation by the CONTRACTOR, his agents or employees, shall be made good and replaced at the CONTRACTOR'S expense. This provision is without prejudice to Article 1723 of the Civil Code of the Philippines, which is hereby incorporated as part of this Contract.

# ARTICLE 11. THIRD PARTY LIABILITY

- 11.1 The UNIVERSITY, including its officers or employees shall be held free and harmless from any liability, damages, claims, suits of all kinds, costs and expenses arising from the performance of the CONTRACTOR's duties and function while undertaking the project, including damages and injuries that may be sustained by reason thereof, which shall be voluntarily assumed by the CONTRACTOR.
- 11.2 The CONTRACTOR shall also indemnify and hold harmless the UNIVERSITY, its officers or employees from claims of third parties arising from the construction such as, but not limited to, wages, overtime pay, compensation for injury or death of laborers and employees of CONTRACTOR or third parties, SSS premiums, medicare, and living allowances, 13<sup>th</sup> month bonuses, and other social and labor obligations, all of which shall be for the account of the CONTRACTOR.
- 11.3 Neither shall the UNIVERSITY be held liable for any lien, which might incur from any third party arising from supplier of materials, labor or services rendered for the Work, which shall be for the CONTRACTOR's account.
- 11.4 The CONTRACTOR shall comply with all the laws, local or national, with city or municipal ordinances, binding upon or affecting the parties thereto, the work, or those engaged thereon. It shall also comply with the rules and regulations as to the construction work as provided by law. The CONTRACTOR shall keep the UNIVERSITY indemnified against all penalties and liability of every kind of breach of any laws, ordinances, or regulations.
- 11.5 In the event of any such claims, the UNIVERSITY may withhold the equivalent amount from the final payment to the CONTRACTOR.

## **ARTICLE 12. WORK CHANGES AND ADDITIONS**

- 12.1 Variation Orders may be issued by the UNIVERSITY to cover any increase/decrease in quantities, including the introduction of new work items that are not included in the original contract or reclassification of work items that are either due to change of plans, design or alignment to suit actual field conditions resulting in disparity between the preconstruction plans used for purposes of bidding and the "as staked plans" or construction drawings prepared after a joint survey by the CONTRACTOR and the Government after award of the contract, provided that the cumulative amount of the positive or additive Variation Order does not exceed ten percent (10%) of the original price.
- 12.2 In claiming for any Variation Order, the CONTRACTOR shall, within seven (7) calendar days after such work has been commenced pursuant to Section 3.2 of the Revised IRR Annex "E" of R.A. 9184; or, within twenty-eight (28) calendar days after

deliver a notice giving full and detailed particulars of any extra cost in order that it may be investigated at that time.

## **ARTICLE 13. SAFEGUARDS**

- 13.1 The CONTRACTOR shall provide safeguards and other facilities for the protection of the UNIVERSITY and the general public. The CONTRACTOR shall be responsible for and indemnify and save harmless the UNIVERSITY from and against all losses, expenses, judgments, court costs, attorney's fee, demands, payment, suits, actions, recoveries, decrees, executions, and claims of every nature and description and/or recovered against the CONTRACTOR or the UNIVERSITY, by reasons of act attributable to the CONTRACTOR or of any builders, agents, servants, laborers or employees hired by him.
- 13.2 The CONTRACTOR shall provide safety facilities for access and inspection by the UNIVERSITY, or its ARCHITECT/ENGINEER'S, and/or their representatives. The CONTRACTOR shall erect and properly maintain at times such barrier, lights, danger signs and necessary safeguards that will protect students, the school community, workmen and the public, including neighboring buildings, passing pedestrians and vehicles.
- 13.3 The CONTRACTOR shall be responsible for and shall bear all costs and expenses caused by losses, damages due to fire and fire injuries, including death resulting there from accidentally sustained by any person or persons and for injury or damages to property arising out of, or in connection with the execution of the work covered by this Contract.
- 13.4 The CONTRACTOR undertakes to obtain and maintain such All-Risks Insurance Policy and shall produce to the UNIVERSITY all policies and receipts of premium.

# **ARTICLE 14. THE SURETY BOND**

- 14.1 The CONTRACTOR is required to post with the UNIVERSITY, a **Surety Bond** from Iravelers Insurance Gurety Corporation in the amount of **Five Hundred Eighty Two Thousand Firty Percent (30%)**, of the Contract Price to make good on the Down Payment and for the faithful performance by the CONTRACTOR of its obligations herein and for payment of all losses or damages which the UNIVERSITY may sustain as a result of the CONTRACTOR'S failure to faithfully comply with the provisions of the Contract.
- 14.2 In the event that the CONTRACTOR cannot complete the Work on the agreed completion time, Time of Completion, or in case of an approved time extension, the CONTRACTOR is required to renew the Surety Bond corresponding to the new agreed date of completion, assuming extension is allowed by the CONTRACTOR, without prejudice to payment of interest/penalty to the OWNER as provided in this Agreement.
- 14.3 Prior to the release of the Surety Bond, the CONTRACTOR shall execute a sworn affidavit that all wages and salaries of its staff and employees and all indebtedness connected with the work, including but not limited to claims of or credits to suppliers, and other creditors of the CONTRACTOR have been fully settled. Said bond shall be valid for the construction duration plus one month and shall be replaced with a Guarantee Bond.
- 14.4 The CONTRACTOR shall give the UNIVERSITY ten percent (10%) of the total contract price as retention bond, which shall be due for release after the defect's liability period and upon final acceptance of the works.

15.1 If the CONTRACTOR shall neglect or fail to perform any of his contractual obligations, the UNIVERSITY may give written notice to the CONTRACTOR to proceed with such work and to perform such agreement and should he fail to do so within FIVE (5) DAYS from receipt thereof, and if the UNIVERSITY's ARCHITECT/ENGINEER shall certify such failure, this shall be sufficient ground for the UNIVERSITY to enter upon the premises and to complete the work covered under this Contract, and to use or authorize such other contractor or person to use thereof any tools, materials and the property of the CONTRACTOR that shall be on the premises.

15.2 The CONTRACTOR shall be entitled to payment under this contract only in the event that the amount of the estimated cost remaining unpaid shall exceed the expenses incurred by the UNIVERSITY up to such excess, but should the balance be less than the aforementioned expenses for the completion of the construction, the CONTRACTOR shall pay the amount of such additional expenses to the UNIVERSITY, from the amount of the CONTRACT PRICE, including penalty an interest, of \_ in addition to payment for liquidated damages.

## ARTICLE 16. TERM OF CONTRACT

16.1 The agreement shall be effective for a period of Sixty (60) calendar days, commencing on December 13, 2018 and ending on February 11, 2019, unless sooner rescinded, cancelled or terminated in accordance with the law or the provisions of this Agreement.

16.2 Either Party may pre-terminate this Agreement, or any extension thereof upon written notice and with immediate effect if the other party violates or fails to comply with any provision of this Agreement, including the CONTRACTOR's failure to render the Services within the agreed term on account of strike or protest by its employees, agents or representatives, without prejudice to any outstanding liability brought by damages incurred.

# **ARTICLE 17. VENUE OF ACTION**

In the event that any of the parties herein is compelled to resort to court action to enforce the provisions of this Agreement, the parties herein waive any other venue and submit to the exclusive jurisdiction of the courts in the province of Bulacan, to the exclusion of all courts after exhausting their best efforts in settling their dispute amicably. The guilty party shall then be held liable to pay damages to the innocent party in such amount as shall be proven in court including attorney's fees equivalent to twenty five percent (25%) of the amount being claimed.

## **ARTICLE 18. WARRANTY**

Section 62 (b) of R.A. 9184: The CONTRACTOR shall assume full responsibility for the contract work from the time project construction commenced up to a reasonable period as defined in the IRR taking into consideration the scale and coverage of the project from its final acceptance by the government and shall be held responsible for any damage or construction of works except those occasioned by force majeure.

The CONTRACTOR shall be fully responsible for the safety, protection, security, and convenience of his personnel, third parties, and the public at large, as well as the works, equipment, installation and the like to be affected by his construction work and shall be required to put up a warranty security in the form of cash, bank guarantee, letter of credit, Government Service Insurance System bond, or callable surety bond. The CONTRACTOR shall undertake the repair works, at his own expense, of any defect or damage to the infrastructure projects on account of the use of materials of inferior quality within ninety (90) days from the time the Head of the Procuring Entity has issued an order to undertake repair. In case of failure or refusal to comply with this mandate, the government shall undertake such repair works and shall be optified to

**IN WITNESS WHEREOF**, the parties hereto have caused this Contract to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

# SIGNED, SEALED, AND DELIVERED BY:

	ADAI	TRE CONSTRUCTION
cinamin		Ly Mays
President		Owner /Manager
SIGN	IED IN THE PRESENCE OF	1
J.		
BulSu witness		Contractor's Witness
	Funds Available:	
	ICITAS G. MIRABUENOS ant IV, BulSU Accounting Off	îce
A	CKNOWLEDGMENT	
REPUBLIC OF THE PHILIPPINES	CKNOWLEDGMENT	
	CKNOWLEDGMENT	
MALOLOS CITY )s.s.	c for and in the Province/City of	1 2 DEC 2018
MALOLOS CITY  SEFORE ME, a Notary Public	c for and in the Province/City of	
MALOLOS CIT)  S.S.  BEFORE ME, a Notary Public this, 20	c for and in the Province/City of	

The foregoing instrument is an AGREEMENT consisting of eleven (11) pages (exclusive of attachments), including this page on which this acknowledgment is written and signed by the parties hereto and their instrument witnesses on the left-hand margin of each and every page hereof.

WITNESS MY HAND AND SEAL on the date and place first above written.

Doc. No. 402
Page No. 62
Book No. 6
Series of 2018

NOTARY PUBLIC
UNTIL DECEMBER 31, 2018
ROLL NO. 62872